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1. Which one of the following is not a mixture—

fgfefad 8§ Q S19-a1 ve fHryor 78t 8-

(a) air/d1g

(b) mercury/URT
(c) milk/g¥l

(d) cement/dTHe
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Answer: [b]
Explanation:
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2. Among the given nutrients. Milk is a poor source

f
R T e el e g T e i 2

(a) calcium/HIeRTaH
(b) protein/l;ﬁ'cﬂ:[

(c) carbohydrate/®TalgISSC
(d) vitamin c/faerfa= ¥t
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Answer: [d]
Explanation:
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3. Oxygen and ozone are.

SifeitorT ofiv il @

(a) allotropes/Tdlc I
(b) isomers/3TSHH
(c) isotopes/3TgHICIT
(d) isobars/3TSATET
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Answer: [a]
Explanation:
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fufafad A 9 s AT da

(a) alumina/TeIHHAT
(b) brass/Uidd

(c) graphite/diH1T
(d) silicon/RifersT

4. Which of the foIIowin% is an element ?
>
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Answer: [d]
Explanation:
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5. Which one of the following mixture is

homogeneous ?
ﬁ;ri%ri%a H I i 91 Ao e 82

(a) starch and sugar/&T \’rﬁ'\fjﬁ:ﬂ
(b) methanol and water/8YTd 3T U=
(c) graphite and charcoal/ﬂ'qv‘l's'i:’ AR IRBIA

d) calcium carbonate and calcium bicarbonate

PIAAC 3R HIRIH IEPEHAT
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Answer: [b]
Explanation:
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6. Which one of the following substances does not
have a melting point

fraferfad & @ fow uegrd &1 Taqie T8 glar 8

(a) bromine/sifH=

(b) sodium chloride/dT$ad FARIES
(c) mercury/URT

(d) glass/®Td
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Answer: [d]
Explanation:
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7. How many electrons are there in Na*

Na* ¥ f&dq gaiagiv g1d 8

() 1
(b) 10
(c) 1
(d) 12
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Answer: [b]
Explanation:
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8. Which one among the following is the heaviest ?

frafafed # 9 o9 9ad Uil 82

(a) 1 mole of water molecules/1 HId Ul & 3]

(b) 1 mole of ammonia molecules/1 A HIfHAT 3]
(c) 1 mole of sodium atoms/1 HId AIfSTH QIHIY]

(d) 1 mole of hydrogen molecules/1 ATd §Igg o 30
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Answer: [c]
Explanation:
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9. How many moles are there in 140 g of Si (atomic
mass of silicon is 28)

14o%m5iﬁmﬁﬁﬁﬁﬁ%'(ﬁrmﬁqumﬂ
28

(@)5 (b)10
(c)28 (d) 140
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Answer: [a]
Explanation:
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10. Which one of the following elements is the
oorest conductor of heat?

& A B T dcd STHT T Had HATeD 82

(a) sodium
(b) lead

(c) zinc

(d) mercury
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Answer: [b]
Explanation:
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11. What is the elements present in urea

gfear ¥ $IF-oI9 I dd UTE Sd 82
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Answer: [d]
Explanation:
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12. An element X forms an oxide X0O3. What is the
valency of X?

?aﬁxwaﬁ’aﬂﬁsm%xoyxﬁwﬁww
2

(a) 1 (b) 2
()3 (d)6
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Answer: [d]
Explanation:
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13. What is the number of P atoms in one
mole of P,?

P, & TP e & P WAV &Y T fpat 22

(a) 1.504 x 1023
(b) 6.023 x 1033
(c) 1.209 x 1024
(d) 2.409 x 10%4



O SCIENCE BY NIHARIKA RATHORE @
USE CODE FOR 77% DISCOUNT

Answer: [d]
Explanation:
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14. Consider the following statements. Equivalent weight of the
compound is the weight of it that combines with or displaces
directly

Frafafed sy W foar $31 9ife &1 99ded YR 96T UR § Sl §9

Jedi ¢ g1 fara giar @

1. 1.008 part by weight of hydrogen/1.008 U §Tgg o & UR & 3R
2. 16 parts by weight of nitrogen PURSD SR 16 HIT

3. 35.45 part by weight of chlorine & UR ¥ 35.45 HIAT

Which of the statements given above are correct?

SR feU U By A 4 HI-9 Jgl 82

(d)1,2and 3 (b) 1and 2
(c)2and 3 (d)1Tand 3
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Answer: [d]
Explanation:



0D SCIENCE BY NIHARIKA RATHORE @
USE CODE FOR 77% DISCOUNT

15. Consider the following elements—
fraferfad Tal wR faar ¢-

1. Copper/dldl 2. Gold/'\‘ﬁilT
3. Platinum/wife=H 4. Silver/dTcal

Which of the above elements exists free in nature?

SWRITd U § $IF 91 dcd UPpfd H Wad ¥4 | TG 82

(a) 1and 2 (b) 2 and 3
(c) 1,2 and 4 (d) 3 and 4
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Answer: [b]
Explanation:
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16. Which one of the following laws explain the formation
of carbon monoxide and carbondioxide from carbon and

%ﬁﬁaﬁ#mﬁmmﬁ#aﬁ?aﬁaﬁmﬁw
AISTRTESS 3R BT STE3ATHISS P A0 B RS HIAT 8

(a) Law of conservation of mass/sdHIH P &1 T 1w
(b) Law of multiple proportion/UHIitd SIJUTd DI fraw

(c) Law of reciprocal proportions/IRIUR® STJUTd BT faa
(d) Law of definite proportions/ﬁ'f\%l?r STUTd Dbl fraw
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Answer: [b]
Explanation:
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17. Cathode rays are/PYIS fboi %
(a) electromagnetic wave/fdggd DT T

(b) stream of a-particle/U® Wﬂﬁ UTRT
(c) stream of eIectrons/Eﬁﬁ@'F-ﬁ B YRT

(d) radiations/fafeor
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Answer: [c]
Explanation:
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Q18. Cathode rays have/&Us fHul ﬁ'cﬁ %

(a) mass only/W SOogHTH
(b) charge only/&dd dTst

(c) no mass and no charge

BIS SHAT 3R PIS Yo 8]
(d) mass and charge bothgdHTA 3 anﬁ*\frzﬁq‘r
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Answer: [d]
Explanation:
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19. Neutron was discovered by

g &t @I 91 4t

(a) J. J. Thomson/St S YTHA
(b) Chadwick/Sfd®

(c) Rutherford/3cIBIS

(d) Priestley/fUxcdlt
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Answer: [b]
Explanation:
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20. The discovery of neutron became very late
because

<I¢ T DI Wil 9gd ¥ I g5 Hifdb

(a) it is present in nucleus/ds ATH® H HAISG @
(b) it is a fundamental particle/dg Th Hifeles BT g

(c) it does not move/dg fgadr =8l &
(d) it does not carry any charge/dg ®Ig dTSl Ag! ddl §
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Answer: [b]
Explanation:
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21. The fundamental particles present in equal
numbers in neutral atoms are

SR WS H UM 9811 H SUfRIT §d HUT 8

(a) protons and electrons/Uici4 3T gaaa:r
(c) protons and neutrons/l;ﬂE'F-r 3 ?33'[-'-[

(b) neutrons and eIectronsF{@Fl
(d) protons and posﬂrons
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Answer: [a]
Explanation:
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22. The absolute value of charge on electron was
determined by

R TR &1 FARuer A4 foaed gry Auifva faar
lldl 8?2

(a) J. J. Thomson/d o YTHIA
(b) R. A. Millikan/3R. T. faferet

(c) Rutherford/3cIWHIS
(d) Chadwick/dsfd®
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Answer: [b]
Explanation:
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23. Mass of electron is

TSI BT GoUHH 8

() 1.66 x 10?4 g
(b) 6.023 x 1023 g
(c) 9.1 x10%8 g
(d) 9.1 x1025 g
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Answer: [c]
Explanation:
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24. Rutherford's a-scattering experiment
related to the size of the

TEIBIS BT UH UH U TINT & THR A Jdaidd 3

(a) nucleus/ATTH®

(b) atom g
(c) electron ¢

(d) neutron/<ggld
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Answer: [a]
Explanation:






